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Even from the shirt on his shoulder — 75503 B¥7 X123 1% Y9IDR

Overview

The X3 argues that it is obvious that the m%» may collect a 72y from the m>
as payment for his debt; since he can literally take his shirt of his back.
mooin will qualify this rule.
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If he has two shirts, only then can the 7171 take one for payment of his loan -
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For if he has only one shirt, then he cannot collect it as payment; for the

X1 states in ap27 pao that 7"°2 makes arrangements for a creditor. The
‘arrangements’ are that the m>» must allow the > to keep certain necessities (even if this
will prevent the m%» from collecting his (entire) debt.

mooIn offers another option where the M can collect 150> ¥7 Xn*% even if the m>
owns only this R
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If you wish you may also say, that we are discussing a n*»w which is worth
a hundred % (which is very expensive, and people of the s'm? means do
not wear such expensive clothes), then the M%7 may take this n°>v and sell it
for his 21 and with the (remaining) money clothe the m> with a n*»w which

is befitting his stature. The n°%v is sold and part of the money will be used to purchase
a garment which is not expensive and is appropriate for a person of his means. The rest of
the money will be used to pay off the debt (as much as possible). This ruling will -
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Not follow the view of ¥'"2 who states in ®ap»;1 a5 that every H8aw» is

worthy of such a garment (as expensive as it may be)'.
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And the n"9 rules that the law is we do not make any ‘arrangements’.
The m%n is entitled to collect his entire debt from the assets of the mY; regardless of the
consequences.

Summary
If we maintain 17"'v2% 1707, then the Mn collects 7°9n3 37 Xn°73n only if he

has another X%°7%3, or if was an expensive one. n"9 maintains 11"v2% 7701 7K.

Thinking it over
How is this discussion if 1"v2% 13707 relevant to our X3 concerning the
727!

! According to ¥"1 would we would not sell the n>v, and the 1"¥a could not collect his payment.
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